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1. Like fingerprints, each person's DNAis ___, which indicates clearly that
everyone's DNA is different.
(A) essential (B) identical (C) complex (D) unique

2. Journal articles should beas __ as possible; the research must not include his
opinions or emotions,
(A) subjective  (B) objective (C) protective (D) detective

3. They wanted to drive to Taipei, but because of the rain shower, they never reached

their .
(A) target (B) origin (C) decoration (D) destination
4. Listless and sleepless are both s of depression.
{A) sympathy  (B) system (C) symptom (D} synonym
5. The residents of Taiwan will march through the local streets  against the

Anti-Secession law issued in China.
{A) demonstrating  (B) decorating  (C) reflecting (D)) recreating
6. Every graduate student at the conference was deeply with Dr.

Johnson's sharp criticism.
(A) compressed (B) impressed (C) repressed (D) depressed

7. Jennifer got stomach, so her mother ______me to the local clinic.
(A) took (B) carried (C) fetched (D) paid
8.Acatoften ___ its back when in fight or flight situation.
(A) humps (B) jumps (C) lumps (D) dumps
9. It's dangerous to swim in thisriver. Thereisa very strong _ which can carry
you away.
{A) current (B) contract (C) curtain D) curfew
10. That naughty boy isfullef __ . You never know what kind of trick he'll play
next, :
(A) mishap (B) minority (C) mischief (D) minor
11. "Peter goes to church every day...." "Oh? I didn't know he wasas __ as that."
(A) pompous (B) pious {C) sacred (D) sacrifice
12. They don't seem to enforce the fines against littering here. Garbage is ______all
along the highway. '

(A) glittered (B) hooked (C) scratched (D) scattered
13. Tt is taken for granted that a bad habit, once , can't be gotten rid of easily.
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(A) required (B) acquired (C) included {D) accumulated

14. Mr. Wallace can not give up smoking because heis ______ to cigarettes.
{A) willing (B) addicted (C)interesting (D) hobby
15.__ me, there were three other visitors who were also graduate students of the
university.
(A) Beside © (B)Moreover (C)ln additionto (D) As well
16. Our salary isnot _____ to support our family, which means that we lead a poor
life. A
{A) balance (B) modesty (C) adequate (D) suit
17. Nothing can the loss of his friend. ‘
(A) explain (B) compensate for (C)undo {D)retaliate for
18. Learning how to respond to properly takes a long time.
(A) criticism (B) heyday (8] -parade {D) skyscraper
19. If you want to succeed, you must what your professor tell you to do.
{A) obey (B) value (C) admire (D) reply to
20. In a formal paper it is to use footnotes each time a source is quoted.

(A) sensible (B) accei:table (C) satisfactory (D) mandatory

I~ AR T 21~40 B - SRz A a s
R RS IRI WISIEIES - (S
1.543 » #£3043)

21. Eastern meadowlarks abound in places ____, but eat harmful insects rather than
grain, -
(A} land is cultivated there (B) there is land cultivated
(C) where land is cultivated {D) where is cultivated land

22. ___ for mathematical precision been more apparent than in the field of computer
technology.
(A) The need has nowhere (B) Has nowhere the need
(C) Nowhere has the need (D) The need nowhere has

23. Not until 1868 ____made the capital of the state of Georgia.
(A) was Atlanta (B) when Atlanta was
(C) Atlanta was . : (D) was when Atlanta

24. A large portion of the current debate over the implications of the women's
liberation movement too charged with emotion to be informative.

(A)is (B) are (C} has been (D) to be
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25. The boy's mother was very angry because there books and clothing
scattered around the room.
(A) was (B) were - (C) hasbeen (D) to be
26. Having studied your report carefully, I am convinced that neither of your solutions
correct.
(A)is (B) are {(C) hasbeen D) to be
27.1f1 __ enough money then, I would have bought that fancy bike.
(A) have (B) had (C) have had (D) had had
28. Itistime that she  hard.
(A) study (B) studies (C) should study (D) has studies
29, they had something to eat.
(A) No one would give them food (B) He bought some meat
(C) they wish to (D) It is time
30. Ipropose thathe  chairman.
(A) electing (B) elected (C) elects (D) be elected
31. incense is made in powder form or in sticks.
(A) It is usually (B) Usually
(C) Usually it is (D) Usually when
32, theories have been advanced to account for the existence of the moon.
{A) They have many (B) There have been many
(C) Many g (D)) That many '
33. of the use of wool in fabrics as early as 4,000 B.C.
(A) Evidence o ~ (B) It is evidence
(C) There is evidence (D) Evidence is
34. Lately, the prices of the high-tech securities run high many experts
break their glasses. This situation surprises all the investors on the market.
(A) too; to - (B) so; that (C) so; as (D) very; for
35. The purpose of Corporate Finance consists ____ three decisions: long-term
investment, long-term Financing, and daily financial operation.
(A) with (B) to {C} upon (D) of
36. It is not easy to be a successful researcher. You have to be equipped with
professional knowledge _excellent communication skill.
(A) as many; as - (B) as well; as
(C) not only; but also . (D) rather; than
37. According to the results of the experiment, George’s choice is wrong. That is he
.___ the other way.
(A) should chose (B) should chosen
(C) should have chosen (D) should had been chosen
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38. A: How long does it take to go to the university?

B: .
(A) Everyday (B) Two times
(C) Three minutes (D) Four kilometers
39. A’ How many times have you been to the academic conference?
B:

(A) I first time come to the conference
(B) It's the first time to be here

(C) First time I come to the conference
(D) I come to the conference first time
40. A: Don't you have to go to the university tomorrow?

B: .
(A) Yes, I must not . (B) No, I don't
(C) No, I must : (D) Yes, I do

W ~ R LA T B BRI CIRE RIS T thar (40 43)

Public education in North America was not instituted as a path to equality, yet it has
been deeply shaped by that jdeal. Critique and struggle have taken up its implicit
promise of universality and hence of equal opportunity. Ideal of equality were
joined with the social need to generalize culture, knowledge, and skills. Education
could be a way for people to become informed citizens, hence capable of true
participation in a democratic society, and a means through which injustices and
inequality could be rectified by standardizing opportunities to learn and advance.
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1. ABYTFFE(Man: A Course of Study)
2. BT R (professional development schools)
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A~ BRME (BESH)
1. Reciprocal teaching
2. Advance organizer
3. Automaticity theory

4. Deep processing approach vs. surface processing approach
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~ halo effect )
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~ Thurstone Scales
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A - B (hypothesis)
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% - Eam(theory)
3« FHEETRNARSYFRRRNER -
“Table 1 Item-analyses data derived from four multiple-choice items
Group | Group Response Total
Size Alternatives' No. Difficulty | (H-L) Discrimination
Correct Index ' Index
1 2 13 |415]| (HandL}) ‘
Itemn | High 12 0 |(11j0 [110 20 83% 2 +17
1 | Low 12 2 9|1 |00
Ttem | High 25 2 |2 21110 26 52% - 14 +.56
2 Low 25 5 8 |6 |24 _
Ttem | High 16 2 |2 |8 2|2 6 19% -2 -13
3 | Low 16 4 13 14 |14
Item | High 30 20103 12 j1 (4 28 47% . 12 +.40
| 4 |Low |30 8 |119 |93

! Undertined numbers indicate correct answers.




